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1.  Let f(x) = 1, then f00(—1) =

(o) 49! () [

(© 51 ;‘? W = —X \ |

(d)  undefined L \ -

() 50! JE — Q.\) D) X s

— Q\)K )Q %) (-50)X

(scs
} (—*\>~ ‘ Q\) ——-—%o‘

2. The point(s) on the curve y = x4+ 322 — 3z + 3 where the tangent is
parallel to the line 3z +y = 15 is (are):

3) and (““2, 13) \ (correct)

(a) (0 ,13) )

B (0.3)only | |
(¢) (=2,13)only Ve 0¥ + 15
(d)  (0,15)and (—2,21) | |
(e)  (0.15) only = m= -2

/

g = 27<L+G>§ X
Sm\\éw *+, | | | =

N > L
451/5ec 2, | © 3R ybK=0
2x (A4d) =0

AN o) 7&::,—2/

CO/ 5) Q’l/ \ 73)
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F
3 Let P(x) = (m), where F' and G are the function whose graphs are shown
G(z)
then P'(2) = 50/57( f‘fz 2
ah! (correct )
! 1™y
(b) 0 5 :
(¢)  undefined -
; P
(d) 1 C)Q) — g , @‘ - /{:
3
(e) B

p @ Fn)@(g @ﬁ)
G (D)

4. Which one of the following statements is always True?
O Q.L) ()
2 (ton’z) = &
dx

\J (a tan” ) = dx(sec ) ( ,,,,,,, )
X ®
A
A

)
b)  -(10%) ==210° =1 |
(¢) If fis differentiable, then% F(/T) = J;_ \(/%) =
(d) lim(1+2)7 =1

)

d
—|2°| = 2|a]

(e dx

/sz, Tale Qu
eY\J\ %(KQ\MU{JGW 65
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5. The equation of the tangent line to f(z) = 2xsinx at (g—, 7T> is

(correct)

JE/(’Q = SR L7 X GoeX

25/ 5 ) u - |
b ] o - » ,LTJ
=)

0. lim —
=0 4+ tanx
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7. If f(z fi‘l then f/(1) is \j[’()\)’ (‘X )4(); '
el

5% Lo A

(b) % A AVL\ - (é’\‘bb (27\» (7\“\"\) (1

Q% (xay
\/
alt:s \QC/Q = (a6 X
_ #'L?, B T
Cec B e \S; K c -H»\)
AN

8. If g(z) is a twice differentiable function and f(z) = r g(z?), then, f"(z) =

—

(a) 6zg'(z?) +42¢"(z* ) e
4z (z%) + 22%g"(z%)

(c) ¢(a%) +2g"(z?)

(d)  22%°g(a®) +2%9"(2?)

(e)  2¢"(z?)

i ﬁl@:?(ﬂ‘*} ~\—Xé)/ (K )KUQ
ﬂm ) \96@ INENELCS

e 33/00

== zxy(x) +4 Xﬁ (73*)%1@0&)
= ¢ XG (X )%H/W ()
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9. Ifsiny+cosz =1, and —g <y< g, then ¢y”(0) =

@ 3/C05;m%\\;\)§:® rrrrrrrrr

(b

| O =

QS\
|l
£
%
Fa

@]

(
(d

< ™IS

AL /
Y = losX, Cosy Y St Sk

Ko Co <y
“:BSB TN - 3 a—~ VW ® _j
\\{\\3 =0 ”"«-:'—\"):,Q tj (b) o ‘-\L = |

1
10. Ify = (tan~*(bz))? and v/ <5> =, then b =

| V
)
)
)
)

(e

|

9=t B
B S
0
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11.  Ify=(1++/7) then ¢/(1) =

@) g+mnd \\‘\&6 = K\\‘\& %‘(;J

(b) i—l—an \

(c) 1+21112 ‘ — \I\& A((){) X _L_\F_K——,
W 2 Bl N L +VX
(e) In2

‘5 “\K%\Yﬁ—k

\\j/<\> — L[\V\QQD %+ u‘] 2'\\1\2,*: -3

12.  If P=(2,b) is a point on the curve x? + y? + 2z — zy + 6y — 13 = 0, with 2
b # 1, then, the slope of the tangent line to the curve at P is:

e .

+\3 2y €l |

b 4b_G =6
Qn—sf%)Q?w——) =0 ) J \
b= 5 =2, 4»)
| />/Ow @XA{M&S 2 Y "WQ Avég =0
) — DALY
) Y- Xt 6

j( _ xS \\/5
(e Or6

—

w| g | = e 2~
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13.  An object is moving along a straight line with position function
& 19t

5(t) = 3

Then the object reaches the Velomty 15m/s after

ToD S®=t- -5 =g

(t > 0).(s measured in meters, and ¢ in seconds).

(a)

(b) 155

(<C§ 255 ’ “’"\ O\t ———-ZD e

d 30 s ‘ )

[ e % —7 Q &{%\w =0

“J( ::: 7 O

14. A particle is moving along a hyperbola zy = 8. As it reaches the point
(4,2), the y-coordinate is decreasing at a rate of 3c¢m/s. How fast is the
x-coordinate of the point changing at that instant:

(b)  8cm/s

(c) —6em/s

) 12emjs é &K X C&%

(e) —8cm/s ‘Tt "k‘ : % "
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15.  Fory=2z—2* z=2and Az = —0.4. The value of dy + Ay is equal to

( (a 1D | —
(

__A
b

)

) 0.16 -
() —0.16 X=2

)

)

o XX =, §
59 = 4 6) —4()
- Q 2. ~2.%6) — &
— & 54/
Ay - P dx
= @ 2 () (~o. é«}
— @x 0 )

——

"‘“O(

©. 644 0.8
= /.44

:#'C/s@z L6




